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D -1, 1 @ -1 3 0 @ 2 ® 1



2. T(x+1)=10x+ 13 Z2 & 2= ga)e?

D 4x+8=16 @ 4-3x=-2x+7
® 6(x—1)=—(5-4x) @ 5(x—8)=6x

® 2x-7(54+x)=0



ohe Fold WAL 7Ha6) shof ax = b o] B2 ehfge o,
b ARAQ AFES)

26— {34+ (3x-4)} =6(x-7)

D 22 ® 34 ® 41 @ 48 ® 50
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11. o A4 @9 sl 02 sl —24ol}. of . k o] ghe
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@ x-Bx-k)=1 @gx—o.?)x:—g

D -5 ® -1 3 0 @ 1 B 5
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@ 03(x—1)+0.7

@ 0.1x+0.3=0.2

@ 0.2x-3=0.5x



<
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@ 3(x-1)+7=0

@D x+3=2

@ 0.2x-3=0.5x

®2=2-4{1-(2x-7)}



15. T a,bol st a®b=2(a+b)—ab L W, x| gH2?

Bo(x+1)}+{(2x-4) @1} =8

D 4 @ 5 B 6 @ 7 ® 8



